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4= 2'40.102
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3= 2'39.217 5= 2'38.930 6= 2'39.402
4= *2'37.596
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3= 2'40.176 5= *2'35.866 6= 2'36.732
4= 2'39.843
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3= 2'41.295 5= 2'41.398 6= *2'40.408
4= 2'41.256
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3= *2'37.583 5= 2'38.110 6= 2'39.093
4= 2'38.358
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3= 2'40.648 5= 2'39.321 6= 2'40.877
4= 2'40.018
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3= 2'40.648 5= 2'39.969 6= 2'39.900
4= *2'39.549
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3= 2'40.419 5= *2'37.696 6= 2'39.713
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3= 2'42.375 5= 2'39.608 6= *2'39.232
4= 2'39.854
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3= 2'40.176 5= 2'37.526 6= 2'39.581
4= 2'38.007
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3= 2'41.140 5= 2'41.797 6= 2'41.678
4= *2'38.934
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3= 2'46.952 5= 2'43.984 6= 2'46.375
4= 2'44.892

2013-07-06
WEATHER : Fine

COURSE : Dry
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2’41175 8= P2'58.833
2'38.338 8= 2'43.068
2'37.382 8= 2'38.529
2'41.336 8= 2'42.487
2'38.669 8= 2'38.862
2'40.016 8= *2'38.486
2'40.368 8= 2'40.069
2'38.714 8= 2'31.7817
2'39.355 8= 2'40.376
*2'36.852 8= 2'37.883
2'39.566 8= 2'39.121
2'44.872 8= 2'45.386
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1= 3= 253701 5= 243032 6= 243209 7= 242790 8= 2'43.523
2= *241.802 4= 2'43.588
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1= 3= 235553 5= 246689 6= 237.738 7= *2'35.365 8= 2'40.469
2= 239055 4= 2'36.072
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1= 3= 239.169 5= 238805 6= 240224 7= 239553 8= *2'37.916
2= 240697 4= 2'39.895



